C/l/20 u
Ran T~ KT« VK ,S,03 — L -
Pen with R&LY (Oeng st wdfed
R = \<E:[“1 A Eglog‘llb
Part &- v Con C et 6N 15 cL\qngeJ
o determine o, Aer Q

Pﬂf‘f R~ (NH'ﬂzs Oz C‘DV\(e»ﬁm*’fah S
CK/\O(V\SQJ\ﬁ Nehermne srder B
conTrols
Ren I - Nﬁléloj +13—1 §"\br0clm‘ovme\r)r
Rsn that <orheo 5 the yfent vav\l © (Cy(5
Congumes t(??: S+ oog {mr nae.J\
QKV\ m - g‘\wxrc[/\ ‘E}
Rin that <auwses the mircture CL\MJQ
Co\oFSJ §‘FBY\¢UY\3 the end °£ the rFrn,
g“\‘ﬁ\fc[/\ \);Y\AS fevemll)\/v W ity 1\; o

c\’\"\‘/\j <. <o\p v,

Cﬂkcm(q\\“'\coh_ﬁ/ Prodnct ok s wi\th RLS

Qq“ttl

OF Q@ A& Ty Uine
\D(/\e, B %‘{"bi(_\,\f\@w\e"h’y




original Usteckk) <oncemtroions |

p

Reaction | Test 02% (0.012M 0.20M | 0.2 Reaction | Test oM 0.20M
Tube | Starch | NasS;or—TKT— | KNO: Tube | (NH)2520s | (NH#)2504

1 1A 0.10 0.20 0.80 | 0.00 1 1B 0.40 0.40
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1 1A 0.10 0.20 0.80 0.00 g

2 2A 0.10 0.20 0.40 0.40 é

3 3A 0.10 0.20 0.20 0.60

4 4A 0.10 0.20 0.10 0.70 2
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